

Turkish Journal of Mathematics

http://journals.tubitak.gov.tr/math/

**Research Article** 

Turk J Math (2023) 47: 2139 – 2148 © TÜBİTAK doi:10.55730/1300-0098.3485

# Mubariz TAPDIGOĞLU GARAYEV\*

Invariant subspaces of operators via Berezin symbols and Duhamel product

Department of Mathematics, College of Science, King Saud University, Riyadh, Saudi Arabia

Received: 27.09.2023 •	•	Accepted/Published Online: 06.11.2023	•	<b>Final Version:</b> 09.11.2023
------------------------	---	---------------------------------------	---	----------------------------------

**Abstract:** The Berezin symbol  $\tilde{A}$  of an operator A on the reproducing kernel Hilbert space  $\mathcal{H}(\Omega)$  over some set  $\Omega$  with the reproducing kernel  $k_{\lambda}$  is defined by

$$\tilde{A}(\lambda) = \left\langle A \frac{k_{\lambda}}{\|k_{\lambda}\|}, \frac{k_{\lambda}}{\|k_{\lambda}\|} \right\rangle, \ \lambda \in \Omega.$$

We study the existence of invariant subspaces for Bergman space operators in terms of Berezin symbols.

Key words: Reproducing kernel Hilbert space, Berezin symbol, Bergman space, invariant subspace, Duhamel product

### 1. Introduction

The famous Invariant Subspace Problem addresses the question of whether every bounded linear operator on an infinite-dimensional separable Hilbert space possesses a nontrivial invariant subspace.

For historical insights into the invariant subspace problem, readers can turn to the book [7].

In this article, we explore the existence of invariant subspaces for operators within the Bergman Hilbert space  $L^2_a(\mathbb{D})$  using Berezin symbols.

Recall that a reproducing kernel Hilbert space (shortly, RKHS) is the Hilbert space  $\mathcal{H} = \mathcal{H}(\Omega)$  of complex-valued functions on some set  $\Omega$  such that the evaluation functionals  $\varphi_{\lambda}(f) = f(\lambda)$ ,  $\lambda \in \Omega$ , are continuous on  $\mathcal{H}$  and for every  $\lambda \in \Omega$  there exists a function  $f_{\lambda} \in \mathcal{H}$  such that  $f_{\lambda}(\lambda) \neq 0$  or, equivalently there is no  $\lambda_0 \in \Omega$  such that  $f(\lambda_0) = 0$  for all  $f \in \mathcal{H}$ . Then by the Riesz representation theorem for each  $\lambda \in \Omega$ there exists a unique function  $k_{\lambda} \in \mathcal{H}$  such that  $f(\lambda) = \langle f, k_{\lambda} \rangle$  for all  $f \in \mathcal{H}$ . The family  $\{k_{\lambda} = \frac{k_{\lambda}}{\|k_{\lambda}\|} : \lambda \in \Omega\}$ is called the normalized reproducing kernel of the space  $\mathcal{H}$ . The prototypical RKHSs are the Hardy space  $H^2(\mathbb{D})$ , where  $\mathbb{D} = \{z \in \mathbb{C} : |z| < 1\}$  is the unit disc, the Bergman space  $L^2_a(\mathbb{D})$ , the Dirichlet space  $D^2(\mathbb{D})$ and the Fock space  $F(\mathbb{C})$ . A detailed presentation of the theory of RKHSs and reproducing kernels is given, for instance, in Aronzajn [1], Bergman [5], Malyshev [16], Halmos [11], and Saitoh and Sawano [18].

For a bounded linear operator A on  $\mathcal{H}$  (i.e., for  $A \in \mathcal{B}(\mathcal{H})$ , the Banach algebra of all bounded linear operators on  $\mathcal{H}$ ), its Berezin symbol (also called Berezin transform)  $\tilde{A}$  is defined on  $\Omega$  as follows (see Berezin

<sup>\*</sup>Correspondence: mgarayev@ksu.edu.sa

<sup>2010</sup> AMS Mathematics Subject Classification: 47A63

[3, 4] and also Englis [8]):

$$\widetilde{A}(\lambda) := \left\langle A\widehat{k}_{\lambda}(z), \widehat{k}_{\lambda}(z) \right\rangle,$$

where inner product  $\langle .,. \rangle$  is taken in the space  $\mathcal{H}$ . It is obvious from Cauchy-Schwarz inequality that the Berezin symbol  $\tilde{A}$  is a bounded function and  $\sup_{\lambda \in \Omega} |\tilde{A}(\lambda)|$  does not exceed ||A||, i.e.,

$$\sup_{\lambda \in \Omega} \left| \tilde{A}(\lambda) \right| \le \|A\| \,.$$

It is also clear from the definition of Berezin symbol that the range of the Berezin symbol  $\hat{A}$  lies in the numerical range W(A) of operator A, i.e.,

$$\operatorname{range}(\tilde{A}) = \{\tilde{A}(\lambda) : \lambda \in \Omega\} \subset W(A) := \{\langle Ax, x \rangle : x \in \mathcal{H} \text{ and } \|x\| = 1\}.$$

In the present paper, we apply the Berezin symbols technique in the study of invariant subspaces of operators.

For other applications of Berezin symbols and Duhamel products, the reader may refer to [6, 13, 19, 21] and references therein.

## 2. Existence of invariant subspace in Bergman space

We use reproducing kernels, Berezin symbols and Duhamel algebras methods to prove the existence of invariant subspaces for some operators acting on the Bergman space  $L_a^2 = L_a^2(\mathbb{D})$ . Let Hol ( $\mathbb{D}$ ) denote the space of all holomorphic functions on the unit disk  $\mathbb{D}$  of the complex plane  $\mathbb{C}$  with compact convergence. In Hol ( $\mathbb{D}$ ), the Duhamel product is defined (see, for instance, [22]) by the formula

$$(f \circledast g)(z) := \frac{d}{dz} \int_{0}^{z} f(z-t) g(t) dt = \int_{0}^{z} f'(z-t) g(t) dt + f(0) g(z), \qquad (1)$$

where  $f(z) = \sum_{n=0}^{\infty} \widehat{f}(n) z^n$ ,  $g(z) = \sum_{n=0}^{\infty} \widehat{g}(n) z^n$ ,  $\widehat{f}(n) = \frac{f^{(n)}(0)}{n!}$  denotes the *n* th Taylor coefficient of the function *f*. With this product (multiplication) Hol( $\mathbb{D}$ ) becomes a commutative algebra with unit  $f(z) \equiv 1$ .

For any  $f \in Hol(\mathbb{D})$ , let  $D_f$  denote the Duhamel operator defined on Hol( $\mathbb{D}$ ) by  $D_f g = f \circledast g$ . Let dA(z) be the normalized Lebesgue measure on  $\mathbb{D}$ . The Lebesgue space of 2-summable complex-valued functions is denoted by  $L^2(\mathbb{D}, dA)$ . Recall that the Bergman space  $L^2_a(\mathbb{D})$  is the Hilbert subspace of  $L^2(\mathbb{D}, dA)$  consisting of analytic functions with the norm given by

$$\|f\|_{2} := \left(\int_{\mathbb{D}} |f(z)|^{2} dA(z)\right)^{1/2}$$

This is reproducing kernel Hilbert space on  $\mathbb{D}$  with reproducing kernel function  $k_{\lambda}(z) := \frac{1}{(1-\overline{\lambda}z)^2}$ . The shift operator S on the space  $L_a^2$  is the operator defined by

$$\left(Sf\right)\left(z\right)=zf\left(z\right)=\underset{k\geq1}{\sum}a_{k-1}z^{k}$$

2140

for  $f \in L_a^2$  given by the Taylor series  $f(z) = \sum_{k\geq 0} a_k z^k$ ,  $z \in \mathbb{D}$ . It is straightforward to see that for any integer  $n \geq 1$ ,  $S^n$  is a bounded operator on  $L_a^2$  which is injective and has closed range. Therefore,  $S^n$  is left invertible, the operator  $(S^{n*}S^n)^{-1}$  exists in  $L(L_a^2)$  and the operator  $L_n := (S^{n*}S^n)^{-1}S^{n*}$  in  $L(L_a^2)$  is the left inverse of  $S^n$ ; that is,  $L_n S^n = I$  (the identity operator on  $L_a^2$ ) in  $L(L_a^2)$ .

Recall that the function  $\hat{k}_{\lambda}(z) := \frac{1-|\lambda|^2}{(1-\overline{\lambda}z)^2}, \ z, \lambda \in \mathbb{D}$ , is the normalized reproducing kernel of the space  $L_a^2$ , and  $\tilde{A}(\lambda) := \left\langle A \hat{k}_{\lambda}, \hat{k}_{\lambda} \right\rangle, \ \lambda \in \mathbb{D}$ , is the Berezin symbol of operator A in  $L(L_a^2)$  (for more information, see [2], [8] and [14]). Let  $k_g(0)$  denote the multiplicity of zero of the function  $g \in L_a^2(\mathbb{D})$  at the point z = 0.

Certainly, the Bergman space is one of the most important spaces of holomorphic functions, and therefore endowing it with a Banach algebra structure should be of great importance for operator theory and for function theory as well. Namely, in what follows, we need the following two known results (see [10, Theorem 2.3 and Proposition 2.6]):

**Lemma 2.1** The Bergman space  $L^2_a(\mathbb{D})$  is a unital (the unit here is the constant function 1, defined by  $\mathbf{1}(z) = 1, \forall z \in \mathbb{D}$ ) commutative Banach algebra with respect to the Duhamel convolution product  $\circledast$ , which will be called the Bergman-Duhamel algebra.

**Lemma 2.2** The function  $f \in L^{2}_{a}(\mathbb{D})$  is  $\circledast$ -invertible if and only if  $k_{f}(0) \neq 0$ .

It is easy to see that, in general, the Berezin symbol is not multiplicative; that is,  $\widetilde{AB} \neq \widetilde{AB}$  (for example, if S is a shift operator on  $H^2$ , then  $\widetilde{S^*S}(\lambda) = 1 \neq |\lambda|^2 = \widetilde{S^*}(\lambda) \widetilde{S}(\lambda)$  for all  $\lambda \in \mathbb{D}$ ). Kiliç showed that (see [14, Theorem 1])  $\widetilde{AB} = \widetilde{A}(\lambda) \widetilde{B}(\lambda)$  for all B in  $L(\mathcal{H}(\Omega))$  if and only if A is a multiplication operator  $M_{\varphi}$ on a reproducing kernel Hilbert space  $\mathcal{H}(\Omega)$ , where  $\varphi$  is a multiplier with  $\varphi = \widetilde{A}$ . Kiliç also proved (see [12, Corollary 2]) that if A is a bounded operator on the Hardy space  $H^2$ , then  $\widetilde{AB}(\lambda) = \widetilde{A}(\lambda) \widetilde{B}(\lambda)$  for all B in  $L(H^2)$  if and only if A is an analytic Toeplitz operator  $T_{\varphi}, \varphi \in H^{\infty}$ ; moreover,  $\varphi = \widetilde{A}$ . Some generalizations of these results are proved in [12].

Recall that the Berezin symbol is called asymptotically multiplicative on  $L(\mathcal{H}(\Omega))$  if

$$\lim_{\lambda \to \partial \Omega} \left( \widetilde{AB} \left( \lambda \right) - \widetilde{A} \left( \lambda \right) \widetilde{B} \left( \lambda \right) \right) = 0.$$

Our next result shows that in some cases, the boundary behavior of  $\frac{\widetilde{A}(\lambda)\widetilde{B}(\lambda)}{\widetilde{AB}(\lambda)}$ -type functions is useful in proving existence of nontrivial invariant subspace, which is the main result of the present section. We set  $L_{\lambda} := \left(S^{\beta_{\lambda}^{*}}S^{\beta_{\lambda}}\right)^{-1}S^{\beta_{\lambda}^{*}}$ , where  $\beta_{\lambda} := k_{B\hat{k}_{\lambda}}$  (0) is the order of zero of the function  $B\hat{k}_{\lambda}$  at z = 0.

**Theorem 2.3** Let  $T: L_a^2 \to L_a^2$  be a bounded linear operator and S be a shift operator on  $L_a^2$ . Suppose that there exists a nonzero operator  $B \in \{T\}'$  such that:

(i) 
$$\lim_{\lambda \to \partial \mathbb{D}} \left| \frac{I - 2S\widetilde{S^* + S^2}S^{*2}(\lambda)\widetilde{L_{\lambda}B}(\lambda)}{(I - 2SS^* + S^2S^{*2})L_{\lambda}B(\lambda)} \right| = 0;$$

2141

(ii) there exists a sequence  $(\lambda_n)_{n\geq 1} \subset \mathbb{D}$  tending to a point  $\xi_0 \in \partial \mathbb{D}$  such that

$$D_{\widehat{k}_{\lambda_n} \circledast \left(L_{\lambda_n} B \widehat{k}_{\lambda_n}\right)^{-1} \circledast} - \left(\widehat{k}_{\lambda_n} \circledast \left(L_{\lambda_n} B \widehat{k}_{\lambda_n}\right)\right)^{-1} \circledast (0)^{L_{\lambda_n}}$$

converges in uniform operator topology to some operator  $\mathcal{K}$  on  $L^2_a$ , where  $D_{\hat{k}_{\lambda_n} \circledast (L_{\lambda_n} B \hat{k}_{\lambda_n})^{-1} \circledast} - (\hat{k}_{\lambda_n} \circledast (L_{\lambda_n} B \hat{k}_{\lambda_n}))^{-1} \circledast} (0)$ is the Duhamel operator on the Bergman space  $L^2_a$ . Then T has a nontrivial invariant subspace.

**Proof** Suppose that *T* has no nontrivial invariant subspace in  $L_a^2$ . Then ker  $A = \{0\}$  for any nonzero operator *A* in  $\{T\}'$ , and hence  $Ah \neq 0$  for any nonzero function *h* in  $L_a^2$ . In particular,  $A\hat{k}_{\lambda} \neq 0$  for all  $A \in \{T\}' \setminus \{0\}$  and  $\lambda \in \mathbb{D}$ . We define  $f_{A,\lambda} := A\hat{k}_{\lambda}$  for any  $\lambda \in \mathbb{D}$ . Then  $f_{A,\lambda} = z^{\alpha_{\lambda}}g_{A,\lambda}$ , where  $\alpha_{\lambda:=}k_{f_{A,\lambda}}(0)$  is the multiplicity of zero of the function  $f_{A,\lambda}$  at the point z = 0,  $g_{A,\lambda} \in L_a^2$  with  $g_{A,\lambda}(0) \neq 0$ . Hence  $A\hat{k}_{\lambda} = z^{\alpha_{\lambda}}g_{A,\lambda}$ , and so  $L_{\lambda}A\hat{k}_{\lambda} = g_{A,\lambda}$ , where  $L_{\lambda} := (S^{\alpha_{\lambda}}S^{\alpha_{\lambda}})^{-1}S^{\alpha_{\lambda}^*}$ ,  $\lambda \in \mathbb{D}$ . Since  $g_{A,\lambda}(0) \neq 0$ , by Lemmas 2.1 and 2.2, there exists a function  $G_{A,\lambda} \in (L_a^2, \circledast)$  (which is a  $\circledast$ -inverse of  $L_{\lambda}A\hat{k}_{\lambda}$ , that is,  $G_{A,\lambda} = (L_{\lambda}A\hat{k}_{\lambda})^{-1}$ ) such that  $G_{A,\lambda} \circledast g_{A,\lambda} = \mathbf{1}$  for all  $\lambda \in \mathbb{D}$ . Then we obtain  $(\hat{k}_{\lambda} \circledast G_{A,\lambda}) \circledast L_{\lambda}A\hat{k}_{\lambda} = \hat{k}_{\lambda} \circledast \mathbf{1} = \hat{k}_{\lambda}$ , and hence  $D_{\hat{k}_{\lambda} \circledast G_{A,\lambda}}L_{\lambda}A\hat{k}_{\lambda} = \hat{k}_{\lambda}$ , or by denoting  $F_{A,\lambda} := \hat{k}_{\lambda} \circledast G_{A,\lambda} = \hat{k}_{\lambda} \circledast (L_{\lambda}A\hat{k}_{\lambda})^{-1}$ , we obtain from (1) that

$$F_{A,\lambda}(0) = \left(\widehat{k}_{\lambda} \circledast \left(L_{\lambda}A\widehat{k}_{\lambda}\right)^{-1} \circledast\right)(0) = \widehat{k}_{\lambda}(0) \left(\left(L_{\lambda}A\widehat{k}_{\lambda}\right)^{-1} \circledast\right)(0)$$
$$= \left(1 - |\lambda|^{2}\right) \left(L_{\lambda}A\widehat{k}_{\lambda}\right)^{-1} \circledast(0) \neq 0$$

and

$$D_{F_{A,\lambda}}L_{\lambda}A\widehat{k}_{\lambda} = \widehat{k}_{\lambda} \tag{2}$$

for all  $A \in \{T\}' \setminus \{0\}$  and  $\lambda \in \mathbb{D}$ ; here  $D_{F_{A,\lambda}}$  is the Duhamel operator on  $L^2_a$  defined by  $D_{F_{A,\lambda}}h = F_{A,\lambda} \circledast h$ . From (2), we have

$$\widehat{k}_{\lambda} - F_{A,\lambda}(0) L_{\lambda} A \widehat{k}_{\lambda} = D_{F_{A,\lambda} - F_{A,\lambda}(0)} L_{\lambda} A \widehat{k}_{\lambda}$$
(3)

for any  $A \in \{T\}' \setminus \{0\}$  and any  $\lambda \in \mathbb{D}$ . It is not difficult to show that  $D_{F_{A,\lambda}-F_{A,\lambda}(0)}$  is a compact operator on  $L^2_a$  (see the proof of Proposition 2.6 in [10]). In particular, for A = B, where  $B \in \{T\}'$  is an operator satisfying the conditions of the theorem, we have from (3) that

$$\widehat{k}_{\lambda_n} - F_{B,\lambda_n}(0) L_{\lambda_n} B \widehat{k}_{\lambda_n} = D_{F_{B,\lambda_n} - F_{B,\lambda_n}(0)} L_{\lambda_n} B \widehat{k}_{\lambda_n}$$
(4)

for all  $n \ge 1$ , where  $(\lambda_n)$  is a sequence satisfying condition (*ii*),  $L_{\lambda_n} := \left(S^{\beta_{\lambda_n}^*}S^{\beta_{\lambda_n}}\right)^{-1}S^{\beta_{\lambda_n}^*}$  and  $\beta_{\lambda_n} := k_{B\hat{k}_{\lambda_n}}(0), n \ge 1$ .

By virtue of condition (*ii*),  $\lim_{n\to\infty} \|D_{F_{B,\lambda_n}-F_{B,\lambda_n}(0)}L_{\lambda_n}-\mathcal{K}\|_{L(L^2_a)} = 0$  for some operator  $\mathcal{K}$  on  $L^2_a$ . Obviously,  $\mathcal{K}$  is compact (because  $D_{F_{B,\lambda_n}-F_{B,\lambda_n}(0)}$  is compact for any  $n \ge 1$ ). Then by considering condition (ii) and equality (3), we obtain

$$\begin{aligned} \left\| \widehat{k}_{\lambda_{n}} - F_{B,\lambda_{n}} \left( 0 \right) L_{\lambda_{n}} B \widehat{k}_{\lambda_{n}} \right\| &= \left\| \left( D_{F_{B,\lambda_{n}} - F_{B,\lambda_{n}} \left( 0 \right)} L_{\lambda_{n}} - \mathcal{K} \right) B \widehat{k}_{\lambda_{n}} + \mathcal{K} B \widehat{k}_{\lambda_{n}} \right\| \\ &\leq \left\| D_{F_{B,\lambda_{n}} - F_{B,\lambda_{n}} \left( 0 \right)} L_{\lambda_{n}} - \mathcal{K} \right\| \left\| B \right\| + \left\| \mathcal{K} B \widehat{k}_{\lambda_{n}} \right\| \to 0 \quad (n \to \infty) \,, \end{aligned}$$

because  $(\widehat{k}_{\lambda_n})_{n\geq 1}$  is a weak null sequence in  $L^2_a$  and  $\mathcal{K}B$  is a compact operator on  $L^2_a$ . Thus,

$$\lim_{n \to \infty} \left\| \widehat{k}_{\lambda_n} - F_{B,\lambda_n}(0) L_{\lambda_n} B \widehat{k}_{\lambda_n} \right\| = 0.$$
(5)

On the other hand, by  $\left\| L_{\lambda_n} B \widehat{k}_{\lambda_n} \right\| \ge \left| \widetilde{L_{\lambda_n} B} (\lambda_n) \right|$ , we have:

$$\left\|\widehat{k}_{\lambda_{n}} - F_{B,\lambda_{n}}\left(0\right)L_{\lambda_{n}}B\widehat{k}_{\lambda_{n}}\right\|^{2} = 1 - 2\operatorname{Re}\left[F_{B,\lambda_{n}}\left(0\right)\widetilde{L_{\lambda_{n}}B}\left(\lambda_{n}\right)\right] + \left\|F_{B,\lambda_{n}}\left(0\right)L_{\lambda_{n}}B\widehat{k}_{\lambda_{n}}\right\|^{2}$$

$$\geq 1 - 2\left|F_{B,\lambda_{n}}\left(0\right)\widetilde{L_{\lambda_{n}}B}\left(\lambda_{n}\right)\right| + \left|F_{B,\lambda_{n}}\left(0\right)\widetilde{L_{\lambda_{n}}B}\left(\lambda_{n}\right)\right|^{2}$$

$$= 1 - 2\left|\widetilde{L_{\lambda_{n}}B}\left(\lambda_{n}\right)\right| + \left|\widetilde{L_{\lambda_{n}}B}\left(\lambda_{n}\right)\right|^{2}.$$
(6)

Note that the wandering subspace for the shift operator  $S \in \mathcal{B}(L_a^2)$  is the subspace  $\mathcal{E} = L_a^2 \ominus SL_a^2 = \ker(S^*)$  of  $L_a^2$ . It is well-known (and easy to verify; see, for instance, Olofsson [17], Giselsson and Olofsson [9] and Shimorin [20]) that the operator  $L_1 := (S^*S)^{-1}S^*$  in  $\mathcal{B}(L_a^2)$  is the left inverse of S with kernel  $\mathcal{E}$ :

$$L_1 S = I$$
 in  $\mathcal{B}(L_a^2)$  and ker $(L_1) = \text{ker}(S^*) = \mathcal{E}$ .

The operator  $P = I - SL_1$  in  $\mathcal{B}(L_a^2)$  is the orthogonal projection of  $L_a^2$  onto  $\mathcal{E}$ . Indeed, the operator  $SL_1 = S(S^*S)^{-1}S^*$  is self-adjoint, idempotent and has range equal to  $SL_a^2$ . An interesting fact is that  $(S^*S)^{-1} = 2I - SS^*$  (see [17, Formula (0.1)] and also [15]). A simple computation shows that the operator  $L_1 = (S^*S)^{-1}S^*$  on  $L_a^2$  acts as

$$(L_1 f)(z) = \frac{f(z) - f(0)}{z} = \sum_{k \ge 0} a_{k+1} z^k, \ z \in \mathbb{D},$$

where  $f(z) = \sum_{k\geq 0} a_k z^k \in L^2_a$ . Since dim  $\mathcal{E} = L^2_a \ominus SL^2_a = 1$ ,  $k_\lambda(z) = \frac{1}{(1-\overline{\lambda}z)^2} = \sum_{n=0}^{\infty} (n+1)\overline{\lambda}^n z^n$  and  $SL_1 \mathbf{1} = S(S^*S)^{-1}S^*\mathbf{1} = 0$ , we have

$$Pk_{\lambda} = \left(I - S\left(S^{*}S\right)^{-1}S^{*}\right)k_{\lambda} = k_{\lambda} - S\left(S^{*}S\right)^{-1}S^{*}k_{\lambda}$$
$$= k_{\lambda} - \left(S\left(S^{*}S\right)^{-1}S^{*}\right)\left(\mathbf{1} + 2\overline{\lambda}z + 3\overline{\lambda}^{2}z^{2} + ...\right)$$
$$= k_{\lambda} - \left(S\left(S^{*}S\right)^{-1}S^{*}\right)\mathbf{1} - \left(S\left(S^{*}S\right)^{-1}S^{*}\right)\left(2\overline{\lambda}z + 3\overline{\lambda}^{2}z^{2} + ...\right)$$
$$= k_{\lambda} - \left(2\overline{\lambda}z + 3\overline{\lambda}^{2}z^{2} + ...\right) = \mathbf{1},$$

and hence  $(I - S(S^*S)^{-1}S^*)k_{\lambda} = 1$ . Since  $(S^*S)^{-1} = 2I - SS^*$ , we have that  $I - S(S^*S)^{-1}S^* = I - 2SS^* + S^2S^{*2}$ , and hence

$$(I - 2SS^* + S^2S^{*2})k_{\lambda} = \mathbf{1}.$$
(7)

Then by using (7), we obtain:

$$\frac{1}{\left(L_{\lambda_n}Bk_{\lambda_n}\right)(0)} = \frac{1}{\left\langle L_{\lambda_n}Bk_{\lambda_n}, \mathbf{1} \right\rangle} = \frac{1}{\left\langle L_{\lambda_n}Bk_{\lambda_n}, \left(I - 2SS^* + S^2S^{*2}\right)k_{\lambda_n} \right\rangle}$$
$$= \frac{\left(1 - |\lambda_n|^2\right)^2}{\left\langle \left(I - 2SS^* + S^2S^{*2}\right)L_{\lambda_n}B\hat{k}_{\lambda_n}, \hat{k}_{\lambda_n} \right\rangle}$$
$$= \frac{\left(1 - |\lambda_n|^2\right)^2}{\left[\left(I - 2SS^* + S^2S^{*2}\right)L_{\lambda_n}B\right]^{\sim}(\lambda_n)},$$

and hence, by using (6), we have

$$\begin{aligned} \left\|\widehat{k}_{\lambda_{n}}-F_{B,\lambda_{n}}\left(0\right)L_{\lambda_{n}}B\widehat{k}_{\lambda_{n}}\right\|^{2} &\geq 1-2\left|\frac{\left(1-\left|\lambda_{n}\right|^{2}\right)^{2}\widetilde{L_{\lambda_{n}}B}\left(\lambda_{n}\right)}{\left[\left(I-2SS^{*}+S^{2}S^{*2}\right)L_{\lambda_{n}}B\right]^{\sim}\left(\lambda_{n}\right)}\right| \\ &+\left|\frac{\left(1-\left|\lambda_{n}\right|^{2}\right)^{2}\widetilde{L_{n}B}\left(\lambda_{n}\right)}{\left[\left(I-2SS^{*}+S^{2}S^{*2}\right)L_{\lambda_{n}}B\right]^{\sim}\left(\lambda_{n}\right)}\right|^{2}.\end{aligned}$$

Now, since  $(I - 2SS^* + S^2S^{*2})^{\sim}(\lambda_n) = (1 - |\lambda_n|^2)^2$ , using condition (i) of the theorem, we can deduce that

$$\lim_{n \to \infty} \left\| \widehat{k}_{\lambda_n} - F_{B,\lambda_n} \left( 0 \right) L_{\lambda_n} B \widehat{k}_{\lambda_n} \right\| \ge 1;$$

which contradicts (5).

**Corollary 2.3.1** Let  $T \in L(L_a^2)$  be an operator. Suppose that there exists a nonzero operator  $B \in \{T\}'$  such that:

(i)  $(B\widehat{k}_{\lambda})(0) \neq 0 \text{ for all } \lambda \in \mathbb{D} \text{ and } \lim_{\lambda \to \xi \in \partial \mathbb{D}} \frac{\widetilde{B}(\lambda)}{(Bk_{\lambda})(0)} = 0;$ 

(ii) there exits a sequence  $(\lambda_n)_{n\geq 1} \subset \mathbb{D}$  converging to some point  $\xi_0 \in \partial \mathbb{D}$  such that the functional sequence  $\hat{k}_{\lambda_n} \circledast \left(B\hat{k}_{\lambda_n}\right)^{-1}$  is convergent in  $L^2_a$ . Then T has a nontrivial invariant subspace.

-	-	-
L		
L		

**Proof** We observe that

(

$$Bk_{\lambda}(0) = \langle Bk_{\lambda}, k_{0} \rangle = \langle Bk_{\lambda}, 1 \rangle = \langle Bk_{\lambda}, k_{\lambda} \rangle + \langle Bk_{\lambda}, 1-k_{\lambda} \rangle$$

$$= \langle Bk_{\lambda}, k_{\lambda} \rangle + \left\langle Bk_{\lambda}, 1-\frac{1}{\left(1-\overline{\lambda}z\right)^{2}} \right\rangle$$

$$= \langle Bk_{\lambda}, k_{\lambda} \rangle + \left\langle Bk_{\lambda}, \frac{\overline{\lambda}^{2}z^{2} - 2\overline{\lambda}z}{\left(1-\overline{\lambda}z\right)^{2}} \right\rangle$$

$$= \langle Bk_{\lambda}, k_{\lambda} \rangle - \left\langle Bk_{\lambda}, \left(2SS^{*} - S^{2}S^{*2}\right)k_{\lambda} \right\rangle$$

$$= \left\langle \left(I - 2SS^{*} + S^{2}S^{*2}\right)Bk_{\lambda}, k_{\lambda} \right\rangle$$

$$= \left\| k_{\lambda} \right\|^{2} \left\langle \left(I - 2SS^{*} + S^{2}S^{*2}\right)B\widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle$$

$$= \left(1 - |\lambda|^{2}\right)^{-2} \left[ \left(I - 2SS^{*} + S^{2}S^{*2}\right)B\widehat{I}(\lambda).$$

Hence,

$$(Bk_{\lambda})(0) = \left(1 - |\lambda|^2\right)^{-2} \left(I - 2\widetilde{SS^*} + S^2 S^{*2}\right) B(\lambda)$$
(8)

for all  $\lambda \in \mathbb{D}$ . Since  $(Bk_{\lambda})(0) \neq 0$  if and only if  $(B\hat{k}_{\lambda})(0) \neq 0$ , we have that  $k_{B\hat{k}_{\lambda,a}}(0) = 0$ . On the other hand, let  $f := \lim_{n \to \infty} \left( \hat{k}_{\lambda_n} \circledast \left( B\hat{k}_{\lambda_n} \right)^{-1 \circledast} \right)$ . Then  $\hat{k}_{\lambda_n} \circledast \left( B\hat{k}_{\lambda_n} \right)^{-1 \circledast} - \left( \hat{k}_{\lambda_n} \circledast \left( B\hat{k}_{\lambda_n} \right)^{-1 \circledast} \right)(0) \rightarrow f - f(0)$  $(n \to \infty)$  in  $L^2_a$ . Since  $\|D_{\varphi}\| = \|\varphi\|$  for any  $\varphi \in L^2_a$ ,  $D_{\hat{k}_{\lambda_n} \circledast (B\hat{k}_{\lambda_n})^{-1 \circledast} - (\hat{k}_{\lambda_n} \circledast (B\hat{k}_{\lambda_n})^{-1 \circledast})(0)$  uniformly converges to the Duhamel operator  $D_{f-f(0)}$ , which is compact on  $L^2_a$ . Now, in view of equation (8), the desired result is immediate from Theorem 2.3.

It is immediate from Corollary 2.3.1 that an operator T has a nontrivial invariant subspace, whenever T self-satisfies the conditions of Corollary 2.3.1.

The following proposition gives the existence of invariant subspace of operator T on  $L_a^2$  under a more strong condition. We denote by LatT the lattice of all invariant subspaces of operator T on  $L_a^2$ .

**Proposition 2.4** If  $T \in L(L_a^2)$  is an operator such that  $(Tk_\lambda)(0) = \gamma$  for all  $\lambda \in \mathbb{D}$  and some constant  $\gamma \in \mathbb{C}$ , then  $TzL_a^2 \subset zL_a^2$ , i.e.  $zL_a^2 \in \text{Lat}T$ .

**Proof** If  $\gamma = 0$ , then by considering that the reproducing kernels  $k_{\lambda}$ ,  $\lambda \in \mathbb{D}$ , span  $L_a^2$ , we have (Tf)(0) = 0 for all  $f \in L_a^2$ , which implies that  $TzL_a^2 \subset zL_a^2$ . If  $\gamma \neq 0$ , then we have that

$$((I - 2SS^* + S^2S^{*2})T)^{\sim}(\lambda) = \gamma (1 - |\lambda|^2)^2 = \gamma (I - 2\widetilde{SS^* + S^2S^{*2}})(\lambda)$$

for all  $\lambda \in \mathbb{D}$ . Since the Berezin symbols uniquely determines the operator on  $L_a^2$ , from the latter we obtain that  $(I - 2SS^* + S^2S^{*2})T = \gamma (I - 2SS^* + S^2S^{*2})$ , that is  $PT = \gamma P$ , where P is the orthogonal projection of  $L_a^2$  onto  $\mathcal{E} = L_a^2 \ominus SL_a^2$ . Hence, PT(I - P) = 0, or equivalently, (I - (I - P))T(I - P) = 0, which implies that  $T\mathcal{E}^{\perp} \subset \mathcal{E}^{\perp}$ , that is,  $TSL_a^2 \subset SL_a^2$ , so,  $zL_a^2 \in \text{Lat}T$ , as desired.  $\Box$ 

For an analytic map  $\varphi : \mathbb{D} \to \mathbb{D}$  the associated composition operator  $C_{\varphi}$  is defined on  $L_a^2$  by the formula  $C_{\varphi} := f \circ \varphi = f(\varphi(z))$ . Note that the concrete example of operators on  $L_a^2$  satisfying the condition of Proposition 2.4 is the conjugated composition operator  $C_{\varphi}^*$  for an analytic map  $\varphi : \mathbb{D} \to \mathbb{D} : (C_{\varphi}^* k_{\lambda})(0) = (k_{\varphi(\lambda)})(0) = (\frac{1}{1-\varphi(\lambda)z})^2 |_{z=0} = 1 \quad \forall \lambda \in \mathbb{D}; \text{ of course, for } T = C_{\varphi}^*, \text{ the conclusion of the above proposition is immediate from the inclusion } C_{\varphi} \{\mu \mathbf{1} : \mu \in \mathbb{C}\} \subset \{\mu \mathbf{1} : \mu \in \mathbb{C}\}.$ 

In the next result, an analytic automorphism of the unit disc  $\mathbb{D}$  (i.e., the Möbius maps on  $\mathbb{D}$ ) will play a key role, so we start with some properties of Möbius maps (see, for example, [2]). For  $\lambda \in \mathbb{D}$ , let  $\omega_{\lambda}$  be the Möbius map on  $\mathbb{D}$  defined by

$$\omega_{\lambda}\left(z\right) = \frac{\lambda - z}{1 - \overline{\lambda}z}.$$
(9)

Let us define the following unitary operator  $U_{\lambda}: L^2_a \to L^2_a:$ 

$$U_{\lambda}f = (f \circ \omega_{\lambda}) \,\omega_{\lambda}^{'}.\tag{10}$$

To show that  $U_{\lambda}$  is indeed unitary, first make a change of variables in the integral defining  $||U_{\lambda}f||_2$  to show that  $U_{\lambda}$  is an isometry on  $L_a^2$ . Next, a simple computation shows that  $U_{\lambda}^2 = I$ ; this holds because  $\omega_{\lambda}$  is its own inverse under composition. Being an invertible isometry,  $U_{\lambda}$  must be unitary. Notice that  $U_{\lambda}^* = U_{\lambda}^{-1} = U_{\lambda}$ , so  $U_{\lambda}$  is a self-adjoint unitary operator. We will need the following simple property of  $U_{\lambda}$ :

$$U_{\lambda}\mathbf{1} = -\widehat{k}_{\lambda}$$

which is immediate from (9) and (10).

**Proposition 2.5** Let  $T \in \mathcal{B}(L_a^2)$  be an operator for which there exists a nonzero operator  $B \in \{T\}'$  such that: (i)  $\left(B\hat{k}_{\lambda}\right)(0) \neq 0$  for all  $\lambda \in \mathbb{D}$  and  $\left|\frac{\tilde{B}(\lambda)}{\tilde{U_{\lambda}B}(\lambda)}\right| = o\left(\frac{1}{1-|\lambda|^2}\right)$  as  $\lambda \to \partial \mathbb{D}$ ;

(ii) there exists a sequence  $(\lambda_n)_{n\geq 1} \subset \mathbb{D}$  converging to some point  $\xi_0 \in \partial \mathbb{D}$  such that the sequence  $\widehat{k}_{\lambda_n} \circledast \left(B\widehat{k}_{\lambda_n}\right)^{-1}$  is convergent in  $L^2_a$ . Then T has a nontrivial invariant subspace.

**Proof** Since  $U_{\lambda}^2 = I$  and  $U_{\lambda} \mathbf{1} = -\hat{k}_{\lambda}$ , we have:

$$\left(B\widehat{k}_{\lambda_{n}}\right)(0) = \left\langle B\widehat{k}_{\lambda_{n}}, \mathbf{1}\right\rangle = \left\langle B\widehat{k}_{\lambda_{n}}, -U_{\lambda_{n}}\widehat{k}_{\lambda_{n}}\right\rangle = -\widetilde{U_{\lambda_{n}}B}\left(\lambda_{n}\right).$$

Hence, the required result follows alone the lines of the proof of Theorem 2.3.

# Acknowledgment

This work was supported by the Researchers Supporting Project RSPD2023R1056, King Saud University, Riyadh, Saudi Arabia. The authors thanks the referee for valuable remarks.

# References

- Aronzajn N. Theory of reproducing kernels. Transactions of the American Mathematical Society 1950; 68 (3): 337-404. https://doi.org/10.2307/1990404
- [2] Axler S, Zheng D. The Berezin transform on the Toeplitz algebra. Studia Mathematica 1998; 127 (2): 113-136. http://doi.org/10.4064/sm-127-2-113-136
- Berezin FA. Covariant and contravariant symbols for operators. Mathematics of the USSR-Izvestiya 1972; 6 (5): 1117-1151. https://doi.org/10.1070/IM1972v006n05ABEH001913
- [4] Berezin FA. Quantization. Mathematics of the USSR-Izvestiya 1974; 8 (5): 1109-1163. https://doi.org/10.1070/IM1974v008n05ABEH002140
- [5] Bergman S. The kernel function and conformal mapping. Mathematical Surveys and Monographs: American Mathematical Society, Providence, Rhode Island, 1950.
- Bhunia P, Garayev MT, Paul K, Tapdigoglu R. Some New Applications of Berezin Symbols. Complex Analysis and Operator Theory 2023; 17 (96): https://doi.org/10.1007/s11785-023-01404-1
- [7] Chalendar I, Partington J. Modern approaches to the invariant-subspace problem, Cambridge University Press, 2011.
- [8] Engliś M. Toeplitz operators and the Berezin transform on H<sup>2</sup>. Linear Algebra and its Applications 1995; 223-224 (10): 171-204. https://doi.org/10.1016/0024-3795(94)00056-J
- [9] Giselsson O, Olofsson A. On some Bergman shift operators. Complex Analysis and Operator Theory 2012; 6 (4): 829-842. https://doi.org/10.1007/s11785-010-0101-6
- [10] Guediri H, Garayev MT, Sadraoui H. The Bergman space as a Banach algebra. New York Journal of Mathematics 2015; 21 (1): 339-350.
- [11] Halmos PR. A Hilbert Space problem Book. Springer-Verlag, New York, NY, USA, 1982.
- [12] Karaev MT, Gürdal M. On the Berezin symbols and Toeplitz operators. Extracta Mathematicae 2010; 25 (1): 83-102.
- [13] Karaev MT, Tapdigoglu R. On some problems for reproducing Kernel Hilbert space operators via the Berezin transform. Mediterranean Journal of Mathematics 2022; 19 (13): 1-16. https://doi.org/10.1007/s00009-021-01926-y
- [14] Kiliç S. The Berezin symbol and multipliers of functional Hilbert spaces. Proceedings of the American Mathematical Society 1995; 123 (12): 687-3691. https://doi.org/10.2307/2161894
- [15] Louhichi I, Olofsson A. Characterizations of Bergman space Toeplitz operators with harmonic symbols. Journal für die reine und angewandte Mathematik 2008; 2008 (617): 1-26. https://doi.org/10.1515/CRELLE.2008.024
- Malyshev VA. The Bergman kernel and Green function. Zapiski Nauchnykh Seminarov POMI 1995; 221 (1): 145-166. https://doi.org/10.1007/BF02355588
- [17] Olofsson A. A characteristic operator function for the class of n-hypercontractions. Journal of Functional Analysis 2006; 236 (2): 517-545. https://doi.org/10.1016/j.jfa.2006.03.004
- [18] Saitoh S, Sawano Y. Theory of reproducing kernels and applications, Developments in Mathematics, Springer, Singapore, 2016.
- [19] Saltan S, Tapdigoglu, R, Calisir I. Some new relations between the Berezin number and the Berezin norm of operators. Rocky Mountain Journal of Mathematics 2022; 52 (5): 1767-1774. https://doi.org/10.1216/rmj.2022.52.1767
- [20] Shimorin S. On Beurling-type theorems in weighted ℓ<sup>2</sup> and Bergman spaces. Proceedings of the American Mathematical Society 2003; 131 (6): 1777-1787. https://doi.org/10.1090/S0002-9939-02-06721-7

- [21] Tapdigoglu R, Berikbol TT. Commutant and uniqueness of solutions of Duhamel equations. Bulletin of the Malaysian Mathematical Sciences Society 2021; 44 (2): 705-710. https://doi.org/10.1007/s40840-020-00972-1
- [22] Wigley NM. The Duhamel product of analytic functions, Duke Mathematical Journal 1974; 41 (1): 211-217. https://doi.org/10.1215/S0012-7094-74-04123-4